Delphi and rounding
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Rounding mode: Default system rounding mode: rmNearest.

rmiearest o Digit display format: 2 : —

/‘lﬁ A =11,291.50
Exclude VAT Amount : | 11,291.50 v| A

ol 7% > 11,291.50 x 0.07 = 790.41 <- signeias
P — -1
M AmObEL WT I 790.40 ~ B = A% 0.07 = iiisunsutad 790.40 enuTalsunsuil B = 790.40
Grand Total * | 12,081.91 V| C=A+B Grand Total C=A +B ( 11,291.50 + 790.40 )

Aadldd =12,081.90
= uaTdsunsuiad 12,081.91

Withholding TAX :  EC D=Ax0.01

NET Payment :

i fleymida vinlusau na 7% fa 11,291.50 x 0.07 =
| 790,41
Wi maunm 1% &a 11,291.50 % 0.01 = 112.915 deiladwil 112.92

790.405 virlihiflaghuiiu |

|

Avua sauwils A, B, C, D, E iilu currency

la A =11291.50

Y

AR 7% -> 11291.50 x 0.07 = 790.41 <- MNYNABA

* ua T15unsu a3 790.40 o sunsuil B = 790.40

Grand Total C=A + B (11291.50 + 790.40 )
Y F2
doaldm  =12,081.90

* ua T1lsunsu s 12,081.91

v )

AR 1% -> 11291.50 x 0.01 = 112.92 <- MAigndes asetilagn

e
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NET Pay E=C-D(12081.91-112.92)

= 11968.99 <- AgNABY

Y
o o ' <
Tayrndie luaeu na 7% Av 11291.50 x 0.07 = 790.405 v T Tt
790.41

' A = 2 g
IO ADUNA 1% A9 11291.50 x 0.01 =112.915 ﬂ\?ﬂﬂ‘]JULﬂu 112.92
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1. Jayrie v luaeu na 7% Ao 11291.50 x 0.07 = 790.405 %1 1w Litadwilu
790.41

@131 Delphi 1350 T1/5Un5u@IA 119U 9 9} Floating-point data types 34

v24] FPU/SSE. titefiny $An131304 floating-point vioaaviiliganaiioy

The FPU (Floating Point Unit) handles floating-point calculations on 32-bit systems and the SSE (Streaming SIMD
Extensions) handles floating-point calculations on 64-bit systems.
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Value Meaning

rmNearest Rounds to the closest value. (Default)

rmDown Rounds toward negative infinity.
rmUp Rounds toward positive infinity.
rmTruncate Truncates the value, rounding positive numbers down and negative numbers up.
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az 18191 rmNearest (1o 8UADIa0UNAN DI F9e13159 download source 1AM github H9ML push source |

o A
use git client 1D clone source :

git clone https://github.com/samrids/DelphiRoundingMode.git

A = s
2. 90UNA 1% AD 11291.50 x 0.01 =112.915 mﬂmuzﬂu 112.92
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AoUMIouYD N 1 1Ho191aa 1w 1denld rmNearest Tumsilaay
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'laniuaen rmNearest Ning1zduduaiTaunsn Guduve Delphi default rounding mode
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Rounding mode: Default system rounding mode: rmNearest.
______________ 5

rmup ® :Dig'it display format: 2 :
—————————————— a

Exclude VAT Amount : | 11,291.50 + ‘ A

VAT Amount : | 790.41 ~ ‘ B=Ax0.07
Grand Total : | 12,081.91 v‘ C=A+B

Withholding TAX : |

11292 v D=Ax0.01

NET Payment : |

11,068.99 ~|[ E= €-D

Aviua aauils A, B, C, D, E iilu currency

1d A =11,291.50

Aat 7% -> 11,291.50 % 0.07 = 790.41 <- Aignsias

* waiTilsunsuTard 780,40 awTisunsuil B = 79040

Grand Total C=A +B ( 11,291.50 +790.40 )
AaldFn = 12,081.90

* waTdsunsuTnd 12,081.91

il 1% -> 11,291.50 x 0.01 = 112.92 <- signeas alelilngn

NET Pay ~ E=C- D (12,081.91 - 112.92)
=11,968.99 <- AgAEaI

anda virlurau ne 7% fa 11,291.50 x 0.07 = 790.405 vl liiledudu
790.41
we paunm 1% @a 11,281.50 x 0.01 = 112.915 fadaiwi 112.92

= Y .
aouaon 1y rounding mode : (1YY rmDown

rmDown ® P'vg'it display format:

L]
2 -]
11,201.50 v‘ A

yanding igee B fani
i
|
Exclude VAT Amount : |
VAT Amount : |

790.40 v‘ B=Ax0.07

Grand Total : |

12,081.90 V‘ C=A+B

Withholding TAX : |

11201+ D=Ax0.01

WET Payment : |

11,968.99 v‘ E=C-D

Aviua tiauils A, B, C, D, E iilu currency

s A =11,291.50

ARl 7% -> 11,291.50 x 0.07 = 790.41 <- r-'hﬁqnﬁaa

* wdTdsunsuind 790.40 mutisunsui B = 790.40

Grand Total C=A +B( 11,291.50 +790.40 )
Aadlden = 12,081.90

* uaTdsunsuind 12,081.91

Aath 1% -> 11,201.50 x 0.01 = 112.92 <- Aignsias asaiitlagn

NET Pay  E=C- D (12,081.91 - 112.92)
=11,968.99 <- agnsiad

flamda virlusau Aa 7% @ 11,291.50 % 0.07 = 790.405 vivluliilsndufiu
790.41
wi maunm 1% fa 11,291.50 % 0.01 = 112.915 Sefladhudle 112,92

asudenly rounding mode : 4UY rmTruncate
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& big'it display format:

r@gngigg_mmie: Default _sy|5iem rounding mode: rmNearest.

®
= °
11,291.50 v‘ A

VAT Amount :

790.40 v‘ B=Ax0.07

Grand Total : |

12,081.90 v‘ C=A+B

Withholding TAX : |

11291+ D=Ax0.01

NET Payment : |

11,068.99 ~|[ E= €-D

Aviua aauils A, B, C, D, E iilu currency

1d A =11,291.50

Aat 7% -> 11,291.50 % 0.07 = 790.41 <- Aignsias

* waiTilsunsuTard 780,40 awTisunsuil B = 79040

Grand Total C=A +B( 11,291.50 + 790.40 )
AaldFn = 12,081.90

* waTsunsuTad 12,081.91

il 1% -> 11,291.50 x 0.01 = 112.92 <- signeas alelilngn

NET Pay ~ E=C- D (12,081.91 - 112.92)
=11,968.99 <- AgAEaI

anda virlurau ne 7% fa 11,291.50 x 0.07 = 790.405 vl liiledudu
790.41
we paunm 1% @a 11,281.50 x 0.01 = 112.915 fadaiwi 112.92
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T4 rounding mode : £41J1) Custom (force rounding)
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: Rounding mode: Default sygtem rounding mode: rmNearest.
. 1
1 ek
| Custom (force rounding) © IDWJFt display format: 2 :
[}
"""""""" 1d A =11,291.50
Exclude VAT Amount : | 11,291.50 + ‘ A 5
ARt 7% -> 11,291.50 x 0.07 = 790.41 <- Anigneas
VAT Amount : * waiTilsunsuTard 780,40 awTisunsuil B = 79040

790.40 v‘ B=Ax0.07

Grand Total : |

12,081.90 v‘ C=A+B

Withholding TAX : |

11291+ D=Ax0.01

NET Payment : |

11,068.99 ~|[ E= €-D

Aviua aauils A, B, C, D, E iilu currency

Grand Total C=A +B ( 11,291.50 +790.40 )
AaldFn = 12,081.90
* waTdsunsuTnd 12,081.91

il 1% -> 11,291.50 x 0.01 = 112.92 <- signeas alelilngn

NET Pay ~ E=C- D (12,081.91 - 112.92)
=11,968.99 <- AgAEaI

anda virlurau ne 7% fa 11,291.50 x 0.07 = 790.405 vl liiledudu
790.41
we paunm 1% @a 11,281.50 x 0.01 = 112.915 fadaiwi 112.92
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